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ΥΠΟΥΡΓΕΙΟ ΠΑΙΔΕΙΑΣ ΚΑΙ ΠΟΛΙΤΙΣΜΟΥ 
ΔΙΕΥΘΥΝΣΗ ΜΕΣΗΣ ΓΕΝΙΚΗΣ ΕΚΠΑΙΔΕΥΣΗΣ 

ΚΡΑΤΙΚΑ ΙΝΣΤΙΤΟΥΤΑ ΕΠΙΜΟΡΦΩΣΗΣ 

 
 
Answer Key   

Part I:       Writing (30 marks)  (15 + 15 = 30 marks) 

 

Part II: Reading Comprehension                    (30 marks)  

Passage 1 

A. Put a √ in the correct box to indicate whether the following statements are TRUE 

or FALSE according to Passage 1.              (5 X 2 = 10 marks)  

 

1. F     2. F      3. F      4. T      5. T 

 

Passage 2 

B. For questions 1-5 match the correct name, Robert, James or Harry with the 
information.                                                                                                 (5 x 2 = 10 
marks) 
 

1. Harry     2. Robert      3. James      4. Robert      5. Harry 

 

Passage 3 

C. Complete the table below with the information in Passage 3.         (10x1=10 marks) 

 

1. 347 kg 

2. 4 

3. 10.000  

4. No   

5. Many health problems    

6. 115 kg 

7. 3 (light)    

8. 2.200    

9. Walks (a lot every day)     

10. healthy 
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Part III: Use of English                  (40 marks)  

A. Read the following article and choose the correct alternative a, b or c.   

                                                                                                              (10 X 1=10 marks) 

1. c  over     2. a. such      3. c. from      4. a. soon      5. b. later     6. b. other     7. c. could   
8. a  but       9. c. made   10. a. like   

B. Complete each of the following sentences, using the words given in brackets, so 
that it has the same meaning with the first sentence. Do not change the word 
given in brackets.                 (5 x 1=5 marks) 
 

1. have been doing  

2. unless you come back  

3. if he was going to  

4. wish we had visited  

5.  must be finished  

 

C. Circle the correct form of the verbs in the following passage. (10 x 0.5 = 5 marks) 
 

1. start      2. before     3. enjoy      4. as     5. has given      6. need      7. still      8. are doing   
9. faster   10. enough 

 

D.  Fill in the gaps 1 - 5 in the dialogue in column A with the most suitable responses 
A to G in column B. There are two (2) extra responses that you do not need to use. 

         (5 x 1 = 5 marks) 

1.E     2.A      3.D      4.C      5.G    

 

E. Choose the correct word                 (5 x 1 = 5 marks) 
 

1.enjoyed     2.practised       3.win       4.difficult       5.see 

 

F. Complete the text with the correct form of the words in brackets.  

       (10 x 1= 10 marks) 

1. later     2. enjoyable     3. interested     4. employer     5. meetings     6. advertisements   
7. famous     8. interesting      9. excited     10. important 


